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Question Number : 1 Question Id : 68019111367 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Human eardrum can hear the sound which 1s

. 20Hz -2000Hz
. 200Hz - 2000Hz
. 20Hz — 20000Hz
4. 02Hz -2000Hz

Options :

o =

Taa

68019144801. 1
68019144802. 2
68019144803. 3
68019144804. 4

Question Number : 2 Question Id : 68019111368 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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The roof of Mouth is

. Artificial articulator

. Active articulator

3. Contrastive articulator
4. Passive articulator

| R

Options :

68019144805. 1
68019144806. 2
68019144807. 3

68019144808. 4

Question Number : 3 Question Id : 68019111369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Human sound 15 ....
1. Aur
2. Audible air

. Whisper
4. Breath

Options :

L]

68019144809. 1
68019144810. 2
68019144811. 3

68019144812. 4

Question Number : 4 Question Id : 68019111370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The science of dictionary making 1s called

1. Graphics

2. Morphology
3. Graphology
4. Lexicography



Options :

68019144813. 1
68019144814. 2
68019144815. 3
68019144816. 4

Question Number : 5 Question Id : 68019111371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A consonant sound can only be produced with..

. Constriction

. Non-constriction
. Continuum

4. free-airflow

b =

L]

Options :

68019144817. 1
68019144818. 2
68019144819. 3

68019144820. 4

Question Number : 6 Question Id : 68019111372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the English sentence ‘The boy gave the book to the girl’, the word ‘the girl’ 15 a. ..

. Indirect object

. Direct object

. Double object
4. Locative object

I —

Laa

Options :
68019144821. 1
68019144822. 2



68019144823. 3
68019144824. 4

Question Number : 7 Question Id : 68019111373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Human speech sounds produced with the air passing through the mouth...

. Front sound
. Nasal sound
. Clagsiticatory sound
4. Oral sounds

Options:

|

L]

68019144825. 1
68019144826. 2
68019144827. 3
68019144828. 4

Question Number : 8 Question Id : 68019111374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A vowel sound can be produced with ...

. Free-airflow
. Constriction
. Obstruction
4. Stricture

|

L]

Options:

68019144829. 1
68019144830. 2
68019144831.3
68019144832. 4



Question Number : 9 Question Id : 68019111375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Human speech sounds produced with the air passing through the nose are called:

. Nasal sounds

. Glottal sounds
. Palatal sounds
4. Lateral sounds

o =

L]

Options:

68019144833. 1
68019144834. 2
68019144835. 3
68019144836. 4

Question Number : 10 Question Id : 68019111376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two or more different realizations of the same sound in different environment are called :

1. Phonemic similarity

2. Allophones

3. Phonemic disimilarity

4. Free variation
Options :
68019144837. 1
68019144838. 2
68019144839. 3

68019144840. 4

Question Number : 11 Question Id : 68019111377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bhojpuri language 1s ......

1. Official language of Uttar Pradesh
2. Scheduled language of India

. Non-scheduled language of India
4. An artifical language

L]

Options :

68019144841. 1
68019144842. 2
68019144843. 3

68019144844. 4

Question Number : 12 Question Id : 68019111378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A clear and an identifiable pattern of speech characteristics of an individual is called :

1. Dialect
2. Idiolect
3. Creole
4. Register

Options :

68019144845. 1
68019144846. 2
68019144847.3

68019144848. 4

Question Number : 13 Question Id : 68019111379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The varieties of language according to use 1s called

1. Register
2. Isogloss
3. Idiolect
4. Sociolect



Options :

68019144849. 1
68019144850. 2
68019144851. 3
68019144852. 4

Question Number : 14 Question Id : 68019111380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given Hindi sentence * ladke-ne kitaab mez-par rakhii’, the word ‘par’ s a..

. Post-position
. Pre-position
3. In-position
4. On-position

I =

Options :

68019144853. 1
68019144854. 2
68019144855. 3

68019144856. 4

Question Number : 15 Question Id : 68019111381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Language spoken by the particular group of a speech community is called

1. Pidgin

2. Idiolect

. Sociolect
4. Dialect

Options :

Taa

68019144857. 1
68019144858. 2



68019144859. 3

68019144860. 4

Question Number : 16 Question Id : 68019111382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A regional. temporal or social variety within a single language 1s called

. Idiolect
. Dialect
. Register
4. Creole

Options:

|

L]

68019144861. 1
68019144862. 2
68019144863. 3

68019144864. 4

Question Number : 17 Question Id : 68019111383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Blackboard is an example of

1. Compound
2. Sandhi
. Complexity
4. Fusion

L]

Options:

68019144865. 1
68019144866. 2
68019144867. 3

68019144868. 4



Question Number : 18 Question Id : 68019111384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An example of 'Blending' is..........

. Blackboard
. Brunch

. Attorny General
4. Dalda

Options:

o =

Taa

68019144869. 1
68019144870. 2
68019144871. 3
68019144872. 4

Question Number : 19 Question Id : 68019111385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Coinage 1s

. A process of altering the words

. A process of sacrificing the word

3. A process of creating new words in a language
4. A process of convergence

| R

Options :

68019144873. 1
68019144874. 2
68019144875. 3

68019144876. 4

Question Number : 20 Question Id : 68019111386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s an example of Abbreviation :

1. UNESCO
2. NATO

3. UNISEF
4. WHO

Options :

68019144877. 1
68019144878. 2
68019144879. 3

68019144880. 4

Question Number : 21 Question Id : 68019111387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A process in which a word of one grammatical class 1s used as a word of another without any
change in the form

1. Grammaticalization
2. Conversion
3. Hypothesis
4. Morpho-phonemics

Options :

68019144881. 1
68019144882. 2
68019144883. 3

68019144884. 4

Question Number : 22 Question Id : 68019111388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the sentence ‘The book of Ram 1s interesting’. the word “interesting’ 1s an example of

1. Sentential adjective
2. Pedicative adjective
3. Nominal adjective

4. Qualifying adjective

Options :

68019144885. 1
68019144886. 2
68019144887. 3

68019144888. 4

Question Number : 23 Question Id : 68019111389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of Acronym :

1. WHO
2. AIDS
. HIV

4. UNO

Options :

Taa

68019144889. 1
68019144890. 2
68019144891. 3
68019144892. 4

Question Number : 24 Question Id : 68019111390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Aspects of Theory of Syntax' was written by

1. Maggie Talleman
2. Noam Chomsky

3. Dawvid Crystal
4. J. R Firth



Options :

68019144893. 1
68019144894. 2
68019144895. 3
68019144896. 4

Question Number : 25 Question Id : 68019111391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

'Tiger' and 'Animal’ are in semantic relationship of

. Hyponymy
. Synonymy
3. Antonymy
4. Contrast

I =

Options :

68019144897. 1
68019144898. 2
68019144899. 3

68019144900. 4

Question Number : 26 Question Id : 68019111392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Nir' and 'Jal' are in semantic relationship of

. Hyponymy
. Synonymy
3. Antonymy
4. Contrast

I =

Options :
68019144901. 1

68019144902. 2



68019144903. 3
68019144904. 4

Question Number : 27 Question Id : 68019111393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Hand' and 'Body' are in semantic relationship of

. Meronymy
. Hyponymy
3. Antonymy
. Synonymy

| R

ey

Options :

68019144905. 1
68019144906. 2
68019144907. 3

68019144908. 4

Question Number : 28 Question Id : 68019111394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the sentence ‘The king of England has come to India’, the word ‘England’ 1s an example of

1. Possessed noun
2. Possesser noun
3. Common noun
4. Abstract noun

Options :

68019144909. 1
68019144910. 2
68019144911. 3

68019144912. 4



Question Number : 29 Question Id : 68019111395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gondi belongs to

. Dravidian language family

. Aryan Language family

3. Tibeto-Burman language family
4. Munda language family

b =

Options :

68019144913. 1
68019144914. 2
68019144915. 3

68019144916. 4

Question Number : 30 Question Id : 68019111396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Garo belongs to

1. Indo-Aryan language family

2. Tibeto-Burman language family
3. Dravidian language family

4. Austro-Asiatic language fanuily

Options :

68019144917. 1
68019144918. 2
68019144919. 3
68019144920. 4

Question Number : 31 Question Id : 68019111397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Adi 13 mainly spoken in

1. Tripura
2. Arunachal Pradesh

. Jharkhand
. Meghalaya

Taa

i

Options :

68019144921. 1
68019144922. 2
68019144923.3
68019144924. 4

Question Number : 32 Question Id : 68019111398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The forms of verb, *CUT-CUT-CUT" and ‘PUT-PUT-PUT’ are examples of

1. Irregular verb
2. Regular verb

3. Suppletive verb
4. Complex verb

Options :

68019144925. 1
68019144926. 2
68019144927. 3

68019144928. 4

Question Number : 33 Question Id : 68019111399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The word ‘aama’ for ‘murror’ has been borrowed i Hindi from which of the following
languages?

1. Arabie
2. Persian

. Baluch
4. Hebrew

Options :

faa

68019144929. 1
68019144930. 2
68019144931. 3
68019144932. 4

Question Number : 34 Question Id : 68019111400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s language acquisition?

1. The proces of buying a language

2. The process of developing or learming a language
3. Learning about other’s point of view.

4. Process of cleaning of thoughts

Options :

68019144933. 1
68019144934. 2
68019144935. 3

68019144936. 4

Question Number : 35 Question Id : 68019111401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The author of "Vakyapadyam' is

1. Pannini
2. Patanjili
. Bharat Mum
4. Bharatrihari

L]

Options :

68019144937. 1
68019144938. 2
68019144939. 3

68019144940. 4

Question Number : 36 Question Id : 68019111402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Ashtadhyayi’ 1s written by

1. Patanjili
2. Pannimi

. Udbhat

4. Dandi

Options :

L]

68019144941. 1
68019144942. 2
68019144943. 3

68019144944, 4

Question Number : 37 Question Id : 68019111403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Khasi language belongs to

1. Mon - Khmer language family
2. Tibeto-Burman language family
. Dravidian language family

. Kuki-Chin language family

e o



Options :

68019144945, 1
68019144946. 2
68019144947. 3
68019144948. 4

Question Number : 38 Question Id : 68019111404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bodo language is mainly spoken in

. Punjab
. Uttar Pradesh
. Assam
4. Tripura

| I

L]

Options :

68019144949. 1
68019144950. 2
68019144951. 3

68019144952. 4

Question Number : 39 Question Id : 68019111405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given reduplicated Hindi word ‘ghar-ghar’, the intended meaning is :

. House-house
. Every-house

3. Any-house

4. Many-houses

| R

Options :
68019144953. 1

68019144954. 2



68019144955. 3

68019144956. 4

Question Number : 40 Question Id : 68019111406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

'Cultural transmission' is the basic design feature of :

1. Animal language communication
2. Human language communication
. Machine language communication
4. Artficial language communication

Taa

Options :

68019144957. 1
68019144958. 2
68019144959. 3

68019144960. 4

Question Number : 41 Question Id : 68019111407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s an example of intransitive verb:
1. Kill
2. Love

. Cry
4, Think

Options :

L]

68019144961. 1
68019144962. 2
68019144963. 3

68019144964. 4



Question Number : 42 Question Id : 68019111408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the English sentence * The man walks his dog every morning’, the verb ‘walk’ 1s an example

of :

1. Intransitive verb
2. Transitive verb

3. Di-transitive verb
4. Causative verb

Options :

68019144965. 1
68019144966. 2
68019144967.3

68019144968. 4

Question Number : 43 Question Id : 68019111409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Linguistics. as a discipline. was studied earlier as:

. Philosophy
. Psychology
. Philology

4, Phonology

| I

L]

Options :

68019144969. 1
68019144970. 2
68019144971.3
68019144972. 4

Question Number : 44 Question Id : 68019111410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Pannini's 'Ashtadhyvayi' consists of

. 1740 verses or rules
. 2508 verses or rules
. 3679 verses or rules
4. 3906 verses or rules

| I

L]

Options :

68019144973. 1
68019144974. 2
68019144975. 3

68019144976. 4

Question Number : 45 Question Id : 68019111411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The study of the linguistics properties of an area is known as

1. Psycholinguistics
2. Neurolinguistics
3. Areal Linguistics
4. Etymology

Options :

68019144977. 1
68019144978. 2
68019144979. 3

68019144980. 4

Question Number : 46 Question Id : 68019111412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Re-arrange the following language families as per their number of speakers in the world:
(A) Hindi

(B) Spanish

(C) English

(D) Mandarin
1. (D), (C), (B), (A).
2. (A). (C). (B). (D).
3. (D). (C). (A). (B).
4. (B). (D). (C). (A).

Options

68019144981. 1
68019144982. 2
68019144983. 3
68019144984. 4

Question Number : 47 Question Id : 68019111413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following units in their chronological order in a dictionary :
(A). Prounciation

(B). Word

(C). Spellings

(D). Parts of Speech

(E) Meaning

Choose the correct answer trom the options given below:

(E). (A). (D). (C) (B)
AC). (B). (A). (D). (E)
AB), (C), (E), {A), (D)
4.(A). (E). D). (C). (B)

|

L]

Options:

68019144985. 1
68019144986. 2
68019144987.3

68019144988. 4

Question Number : 48 Question Id : 68019111414 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following words according to sense of their meaning from best to worse:
(A). Good

(B). Fair

(C). Bad

(D). Excellent

Choose the correct answer from the options given below:

Options :

68019144989. 1
68019144990. 2
68019144991. 3

68019144992. 4

Question Number : 49 Question Id : 68019111415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following words into ascending order to represent various stages of age of a
person:

(A). Chald

(B). Adolescent

(C). Toddler

(D). Adult

Choose the correct answer from the options given below:

Options :
68019144993. 1
68019144994. 2

68019144995. 3



6801914499%6. 4

Question Number : 50 Question Id : 68019111416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following languages as per their number of speakers in India:
(A). Hindi

(B). Punjabi

(C). Telugu

(D). Bodo

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (B). (A). (C), (D).
.(B). (A). (D). (C).
.(A). (C). (B). (D).

e o

Options :

68019144997. 1
68019144998. 2
68019144999. 3
68019145000. 4

Question Number : 51 Question Id : 68019111417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the names of the following lingnists in descending order in the world:
(A). Noam Chomsky

(B).Pannim

(C). Bloomfield

(D). Saussure

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (B). (D). (C).
3. (B). (D). (C). (A).
4. (C). (B). (D). (A).

Options :



68019145001. 1
68019145002. 2
68019145003. 3

68019145004. 4

Question Number : 52 Question Id : 68019111418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{(Book/Theory {Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
A |Dravidian [. |Punjabi
B. |Indo-Aryan II. |[Khasi
C. |Austro-Asiatic III. |Kannada
D. |Tibeto-Burman IV, |Manipuri

Choose the correct answer from the options given below:

(A) - (). (B) - (I1). (C) - (III). (D) - (IV)
(A) - (III). (B) - (I). (C) - (II). (D) - (IV)
_(A) - (I1). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1)

a3 =

L]

Options :

68019145005. 1
68019145006. 2
68019145007. 3

68019145008. 4

Question Number : 53 Question Id : 68019111419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Book/Theory {(Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)

A |Bilabial [. |Glottis (Vocal cords)

B. |Glottal II. |Upper lip and lower lip
C. |Dental L Hard palate and front of

tongue
D. |Palatal IV, |teeth and tip of tongue

Choose the correcr answer trom the options given below:

(A) - (I). (B) - (I1). (C) - (TII), (D) - (IV)
(A) - (I). (B) - (IIT). (C) - (I). (D) - (IV)
(A) - (I). (B) - (I1), (C) - (TV). (D) - (IIT)
4. (A) - (II). (B) - (I). (C) - (IV). (D) - (IIT)

2 =

L]

Options :

680191450009. 1
68019145010. 2
68019145011. 3

68019145012. 4

Question Number : 54 Question Id : 68019111420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LISTII

(Book/Theory (Author/Thinker/ Name of
proposed/Characteristic, etc.) Theory, etc.)
B e 1 Re_latmn of oppositeness in

pairs of lexical items

B. |Complementarity II. |[Having several meanings
C. |Polysemy II1. |Inclusion or classification
0| Ao v F.elation of oppositeness in

pairs

Choose the correct answer from the options given below:

(A) - (). (B) - (I1). (C) - (III). (D) - (IV)
(A) - (II). (B) - (IIT). (C) - (I). (D) - (IV)
{A) - (I}, (B) - (II), (C) - (IV), (D) - (I1I)
. (A) - (II1). (B) - (D). (C) - (I). (D) - (IV)

o L g =



Options :

68019145013. 1
68019145014. 2
68019145015. 3
68019145016. 4

Question Number : 55 Question Id : 68019111421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Book/Theory {(Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
A |Velar L [d.4 g
B. |Palatal II. [, 9. 71.Y
C. |Dental I |d. &, d, A
D. |Glottal IV |g

Choose the correcr answer from the options given below:

-(A) - (II). (B) - (II1). (C) - (I). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

g b3 —

Options:

68019145017. 1
68019145018. 2
68019145019. 3

68019145020. 4

Question Number : 56 Question Id : 68019111422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Book/Theory (Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
A |Phonology [ |study of meaning
B. |Svntax II. |study of speech sounds

study of arrangements of

C. |Semantics I11. .
words in sentences

study of a structure of and

D. IMorphology Iy, clazzes of words

Choose the correct answer from the options given below:

(A) - (I). (B) - (I1), (C) - (TIT), (D) - (IV)
(A) - (II). (B) - (IIT). (C) - (I). (D) - (IV)
(A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1I)

g b —

Options :

68019145021. 1
68019145022. 2
68019145023. 3

68019145024. 4

Question Number : 57 Question Id : 68019111423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LISTII
(Book/Theory (Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
A |Phoneme [. |Morphology
B. |Grapheme I1. |Graphology
C. |Lexeme II1. |Phonetics
D. [Morpheme IV. |Lexicography

Choose the correct answer from the options given below:

1. (A)- ). (B) - (). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
. (A) - (IIT). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

L



Options :

68019145025. 1
68019145026. 2
68019145027. 3
68019145028. 4

Question Number : 58 Question Id : 68019111424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Book/Theory {(Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
A |Chomsky [. |Svntagmatic
B. |Saussure II. |Performnce
C. |Bhartrihan III. |Abhidha
D. |Anandvardhana IV |Sphota

Choose the correct answer from the options given below:

- (A) - (II0). (B) - (ID). (C) - (I). (D) - (IV)
(A) - (1), (B) - (III). (C) - (II), (D) - (IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II), (B) - (1), (C) - (IV). (D) - (1II}

b

L]

Options :

68019145029. 1
68019145030. 2
68019145031. 3
68019145032. 4

Question Number : 59 Question Id : 68019111425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following concepts are not proposed by Chomsky :
(A). Competence

(B). Performance

(C). Sign

(D). Signifier

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (C) and (D).

4. (B). (C) and (D) only.

Ia =

L]

Options :

68019145033. 1
68019145034. 2
68019145035. 3
68019145036. 4

Question Number : 60 Question Id : 68019111426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which branches of linguistics study language in relation to law and crime :
(A). Criminal linguistics

(B). Forensic linguistics

(C). Language & law

(D). Judicial linguistics

Choose the correcr answer trom the options given below:

.(B) and (C) only.

. (A). (B) and (D) only.
.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options:

68019145037. 1
68019145038. 2
68019145039. 3

68019145040. 4

Question Number : 61 Question Id : 68019111427 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following. which are the active articulators?
(A). Upper palate

(B). Lower lip

(C). Tongue

(D). Teeth-ridge

Choose the correct answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
. (A). (B). (C) and (D).
.(B) and (C) only.

e o

Options :

68019145041. 1
68019145042. 2
68019145043. 3

68019145044. 4

Question Number : 62 Question Id : 68019111428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The forms of noun such as ‘raamah — raamau — raamaah’ in Sanskrit can be explained as:
(A). Sanskrit has three numbers

(B). 'raamau’ indicates ‘dual number’

(C). Sanskrit shows gender marking on verb

(D). Sanskrit 1s highly inflectional

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
1. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :
68019145045. 1
68019145046. 2

68019145047. 3



68019145048. 4

Question Number : 63 Question Id : 68019111429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following could be the cause of semantic change ?
(A). Historical factors

(B). Linguistic factors

(C). Foreign Influence

(D). Language Family

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

iz

Options :

68019145049. 1
68019145050. 2
68019145051. 3

68019145052. 4

Question Number : 64 Question Id : 68019111430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the 92%¢ amendment of Indian Constitution in 2003, which of the following languages

were included in the 8% Schedule list:
(A). Mathili
(B). Bhojpuri
(C). Dogri
(D). Santhali

(E) Bodo

Choose the correct answer from the options given below:

1. (A). (B). (D) and (E) only.
2. (A). (C) and (E) only.

3. (A). (B), (C) and (D).

4. (A). (C). (D) and (E) only.



Options :

68019145053. 1
68019145054. 2
68019145055. 3

68019145056. 4

Question Number : 65 Question Id : 68019111431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following could be the types of the dictionaries?
(A). Bilingual

(B). Monolingual

(C). Quadratic

(D). Multilingual

Choose the correct answer trom the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Ia =

L]

Options :

68019145057. 1
68019145058. 2
68019145059. 3
68019145060. 4

Question Number : 66 Question Id : 68019111432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following belong to Sociolinguistic studies ?
(A). Pidgin

(B). Register

(C). Code

(D). Lexicon

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Ia =

L]

Options :

68019145061. 1
68019145062. 2
68019145063. 3
68019145064. 4

Question Number : 67 Question Id : 68019111433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following languages belong to Austro-Asiatic Language Family?
(A). Bhumij

(B). Kharia

(C). Birhor

(D). Kumaoni

Choose the correcr answer trom the options given below:

. (A). (B) and (c) only.
. (D). (B) and (C) only.
. (A). (B). (D) and (C).
4. (B). (A) and (D) only.

I =

L]

Options:

68019145065. 1
68019145066. 2
68019145067. 3

68019145068. 4

Sub-Section Number : 2

Sub-Section Id : 680191260



Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68019111434 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (68 to 71)

Question Label : Comprehension

Branches of Linguistics

Sociolinguistics 18 one of those branches of linguistics that serves a crucial function in our
understanding and application of linguistics. Because language is a deeply human and social
construct, socio-linguistics deals with the effect of different aspects of society on language. It
studies the interaction of languages as people from different cultures and heritage interact. One
example of sociolinguistics is the emergence of different dialects of a language. as is the study of
language confluence. such as Hind:i and English being spoken together as Hinglish.

Applied linguistics involves the practical use of linguistics to solve real-life problems. Linguists
make use of other fields such as sociology. psychology. anthropology. etc. to better understand
how to apply their study of linguistics to help people and solve real-world concerns.

It 15 best to understand such branches of linguistics with examples. Applied linguistics can be
seen in speech therapy. translating texts from different cultures or ages. and even in the process
of second-language acquisition.

Computational linguistics 1s a relatively new branch of linguistics that deals with the use of
language by computers and programs, Such branches of linguistics leverage computer science to
analyse. model. and produce speech. One example of computational linguistics is the Al-driven
Google Assistant that uses natural language processing and speech recognition systems to do
your bidding.

Sub questions

Question Number : 68 Question Id : 68019111435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Computational Linguistics deals with:

1. Use of Language by Human Being

2. Use of Language by Computers and Programme.
. Use of Language by Animal.

4. Use of Language by Office.

L]

Options:

68019145069. 1



68019145070. 2
68019145071. 3

68019145072. 4

Question Number : 69 Question Id : 68019111436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hinglish 1s an example of

. Language preservation
. Language shift

. Language confluence
4. Language load

| I

Taa

Options :

68019145073. 1
68019145074. 2
68019145075. 3
68019145076. 4

Question Number : 70 Question Id : 68019111437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which branch of linguistics can be used to solve real-life problems

1. Syntax

2. Formal Linguitics
3. Applied linguistics
4. Morphology

Options:

68019145077. 1
68019145078. 2
68019145079. 3
68019145080. 4



Question Number : 71 Question Id : 68019111438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which branch of linguistics attempts to study the interaction of languages from different speech
communities

1. Computational Linguistics
2. Formal Linguitics

3. Informal linguistics

4. Sociolinguistics

Options :

68019145081. 1
68019145082. 2
68019145083. 3

68019145084. 4

Sub-Section Number : 3
Sub-Section Id : 680191261
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 68019111439 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (72 to 75)

Question Label : Comprehension

Indian Tradition of Linguistics

Sanskrit treatise on grammar was written in the 6th to 5th century BCE by the Indian
grammarian Panini, This work set the linguistic standards for Classical Sanskrit. It sums up
4.000 sutras the science of phonetics and grammar that had evolved in the Vedic religion. Panim
divided his work into eight chapters. each of which 1s further divided into quarter chapters.
Beyond defining the morphology and syntax of Sanskrit language. Ashtadhyayi distinguishes
between usage in the spoken language and usage that 1s proper to the language of the sacred
texts.

The Ashtadhyayi 1s generative as well as deseriptive. With its complex use of metarules.
transformations. and recursions, the grammar in Ashtadhyayi has been likened to the Turing
machine. an idealized mathematical model that reduces the logical structure of any computing
device to its essentials.



Sub questions

Question Number : 72 Question Id : 68019111440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Astadhyayi sums up in

. 4400 sutras
4000 sutras
. 5000 sutras
4. 4000 sutras and mantras

| S

Taa

Options :

68019145085. 1
68019145086. 2
68019145087. 3

68019145088. 4

Question Number : 73 Question Id : 68019111441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Astadhyayi distinguishes between

. Spoken and written language

. Verbal and nonverbal languages

. Human and nonhuman language

4. Usage of language and preservation of language

|

L]

Options:

68019145089. 1
68019145090. 2
68019145091. 3

68019145092. 4

Question Number : 74 Question Id : 68019111442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote Ashtadhyayi?

1. Patanjali
2. Pannimi

. Bhratrihari
4. Madhav

Options :

L]

68019145093. 1
68019145094. 2
68019145095. 3
68019145096. 4

Question Number : 75 Question Id : 68019111443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ashtadhyayi 1s divided into

. 8 chapters

. & chapters and 4 sargas
. 4 chapters and 4 sargas

4. 5 chaptersa and 3 sargas

b =

L]

Options:

68019145097. 1
68019145098. 2
68019145099. 3
68019145100. 4



